Тема: «___________________________________ сосуды»

Сосуды____________________________________________________________________________________________________________________________называются__________________
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	Однородная жидкость
Вывод:


	Разнородная жидкость

Вывод:




Определите неизвестное вещество, налитое в сообщающийся сосуд, если известно, что в левом колене вода.

	Дано:

h1=           м
h2=           м
ρ1=1000 кг/м3
	Решение.
ρ1h1=ρ2h2


	ρ2 - ?

	Ответ: 


А) ρ=13600 кг/м3 – ртуть; Б) ρ=1000 кг/м3 – вода; В) ρ=1260 кг/м3 – глицерин 
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